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The City School 
North Nazimabad Boys Campus 

  Reinforcement Worksheet (2019-20) 
Mathematics 

Class 7 
Name: _______________________Date:__________________     Section: ____________  

TOPIC: REAL NUMBERS 

Evaluate the following: 

a) (-5)² x (-3)³ x 3 x (-1) 

b) [(-3) + 9 - 4)] ÷ 7 

c) (-2) x (-5) + (-20) ÷ (-10) 

d) 2
5

9
 - 3

1

4
 

e) 10 x {[(-20) ÷ (-2) + 10]² ÷ (-8) – (20 ÷ 2)² ÷ (-2)} x 100 

f) [ -6 – ( -16)] + (-15) 

g) -2
3

4 
 + (-1

1

2
) – (-1

2

3
) 

Topic: Approximation and Estimation 

Q) Round each of the following numbers to the nearest 100 

a) 108 

b) 199 

c) 3471 

d) 59 

e) 333 

f) 4512 

Q) Round the number 4765173 to: 

a) The nearest million 

b) The nearest 10 

c) The nearest 1000 

d) The nearest 100 

Q) Write each of the following numbers correct to 3 significant figures: 

a) 374120 

b) 84563 

c) 261.42 

d) 0.3648 

e) 0.002615 

f) 0.0025713 

g) 3.6213 

h) 4.0071 
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Q) Write each of the following numbers correct to 2 decimal places: 

a) 7.431 

b) 8.269 

c) 4.7135 

d) 11.925 

e) 24.8603 

f) 44.0019 

Q) Write each of the following numbers correct to the number of significant figures and decimal places 

stated: 

a) 6.475 to 2 s.f 

b) 3681 to 2 s.f 

c) 16001 to 3 s.f 

d) 16.999 to 2 d.p 

e) 160.37 to 1 d.p 

f) 14.7356 to 3 d.p 

g) 571.23 to 4 s.f 

h) 148.25 to 3 s.f 

i) 3.0008925 to 5 s.f 

Q) Calculate and correct to 2 significant figures: 

a) 33 ÷ 4 

b) 22 ÷ 0.7 

c) 142 ÷ 0.8  

d) 66 x 1.27 

e) 3.25 x 1001 

Q) Estimate each of the following: 

a) 11.25 x 76.3 

b) 12.021 ÷ 5.917 

c) 12.84 x 3.94 x 4.02  

Topic: Linear Equations and simple Inequalities 

Q) Solve the following equations: 

1) 17 + 3x = -3 

2) 7x – 14 = 18 – 4x 

3) 
2

5
 x – 1 = 4 

4) 
3𝑥−4

5
 – 7 = 0 

5) 
2𝑥−1

3 
 = 1 – x 

6) 5 (2x + 3) = 35 

7) 2𝑥 − [ 3 + (𝑥 − 5)] = 6 
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Q) Find the unknown value in each case: 

1) If xy – 3y² = 15, find x when y = 2 

2) If 3u – 4uv = 5v², find u when v = 4 

3) If p – 5q = 4qr, find p when q = 4 and r = -1 

4) If x – y = 
𝑥𝑦

𝑝−𝑞
, find x when y = 2, p = 5 and q = 6 

 

Q) A number exceeds another by 4 and their sum is 32. Find the two numbers. 

Q) When the number is doubled and 5 is subtracted from the result, the answer is 37. What is the number. 

Q) The sum of two numbers is 120. If the larger number is four times the smaller number, what are the two 

numbers? 

Q) The sum of three consecutive odd numbers is 333. Find the three numbers. 

Q) Find two consecutive odd numbers such that when the smaller number is subtracted from three 

times the bigger number, the result is 56. 

Q) Ahmed is twice as old as bobby. John is 7 years younger than Ahmed. If the sum of their ages is 38, 

how old are the three boys? 

Q) A man was 26 years old when his son was born. Now, he is three times as old as his son. How old is 

his son now? 

Q) Ben is three times as old as Carl now. In two years time, Ben will be twice as old as Carl. How old is 

Carl now? 

Q) Zoe is 50 years old. His son Michang is 24 years old. How many years ago was Zoe three times as old 

as Michang? 

Q) Adam is five times as old as Charles. In 8 years time, the sum of their ages will be equal to twice Adam’s 

present age. Find their present ages.  

Q) A, B and C shared $1540. A received three times as much money as B and C’s share is half that of A’s. 

How much money did C receive?  

Q) The length of a rectangle is 7cm longer then its width. If the perimeter of the rectangle is 74cm, find 

the length and area of the rectangle.  

Q) A hawker bought 𝑥 kg of beef at $8.50 per kg and (2𝑥 + 5) kg of chicken at $3.60 per kg. If the total 

cost was $206.40, find the value of 𝑥. 

Q16. For every 20 pupils going on a local school excursion, a teacher is needed to accompany them. How 

many teachers are needed to accompany a group of 154 pupils? 
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Q) A mini bus can ferry a maximum of 28 pupils. How many mini buses will be needed to ferry a group of 

184 pupils? 

Q) To photocopy Mathematics and Science worksheets for a class of 38, the treasurer of the class has to 

pay $43.20, how much must the treasurer collect from each pupil correct to the nearest ten cents? 

Q) The school’s pocket money fund for the needy collected a total of $4385. If this amount is to be given 

to a total of 32 needy pupils, how much can each needy pupil get, correct to the nearest $5? 

Q) Select the correct option for the following inequalities: 

1) 6e + 3 < 30 2) 8 × e > 71 3) 107÷ e> 53 

A. 7 A. 10 A. 5 

B. 6 B. 3 B. 8 

C. 4 C. 8 C. 10 

D. 2 D. 4 D. 1 

 
TOPIC: FUNCTIONS AND LINEAR GRAPHS 

Q) Complete the table of values of y = 2x + 4 and draw a graph.  

X -1 0 1 2 3 

Y      

 

Q) Complete the table for y = 3x + 1 and draw a graph. Also find the slope by rise and run. 

x -1 0 1 2 

y     
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Q) Plot the graph of the line 
1

2
 x + 5 , taking the values of x from -2 to 2. Show the slope by rise and run. 

 

TOPIC: PERCENTAGE 

Q) Write each percentage as a fraction in its simplest form. 

1) 210%  2) 4.8%  3) 18%  4) 0.25% 5) 1
1

3
 % 

 

Q) Express the following as decimals 

1) 99%  2)300%  3)2
4

5
 %  4)0.68% 5) 1.002% 
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Q) Convert the following into percentages. 

1) 0.07  2) 0.14  3)0.058  4) 
19

20
  5) 

12

15
 

 

Q) Find the value of the following 

1) 7.5% of $2500 2) 45% of 4kg  3) 33
1

3
 of 48 m 

 

Q) Find the percentage increase of the following 

1) $60 by 10%  2) 32 g by 12
1

2
%  3) 50 m by 125% 

 

Q) Find the percentage decrease in the following  

1) $ 88 by 5%   2) 124 litres by 25% 3) 225 m by 16% 

 

Q) Find the value of “x” in each of the following  

1) 12% of x is 48  2) 77.5% of x is 217  3) 29 
1

2
% of x is 295 

 

Q) In a box of 180 oranges, 15% were spoilt. How many oranges were in good condition? 

Q) The price of notebook increases from 60 cents to 75 cents. Find the percentage increase in price. 

Q) In a constituency, there are 12000 eligible voters. In a particular election, the following results were 

obtained.  

Candidate 
A 
B 
C 

Percentage of voters 
7% 

39% 
42% 

Find the actual number of voters for each candidate given that 12% of them didn’t vote. 

Q) A television set is sold for $1998 and a 11% profit is made. Find the original cost of the television set. 

Q) James earned $36000 in the year 1990. If he pays a 15% federal tax, an 8% state tax and a 3% city 

tax, how much money is left for James after the deductions are made? 
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TOPIC: STATISTICAL DATA HANDLING 

Q: In a zoological garden there are 1000 creatures as per the following table given below: 

Beast Animals Other Land 
Animals 

Birds Water Animals Reptiles 

150 400 225 175 50 

Represent the above data by a pie chart. 
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TOPIC: AREA AND PERIMETER OF PLANE FIGURES 

Q) Find the area of each of the following: 

a) A parallelogram with base 6 cm and height 4.2 cm 

b) A parallelogram with base 4.6 m and height 2.5m 

c) A triangle with bas 2.4 cm and height 20 cm 

d) A trapezium of height 14 mm and parallel sides 8 mm and 12 mm 

e) A trapezium of height 1.2 m and parallel sides 45 cm and 75 cm 

Q) The length of a rectangle is seven times its width. If the perimeter is 120 cm, find its area.  
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Q) Complete the table for the circle: 

 

Radius Diameter Circumference Area 

14 cm    

 84 mm   

  220 m  

   2826 cm² 

  78.5 cm  

 36 m   

4.2 mm    

 

 

 

 

 

 

 

 

 

 Topic: Ratio, Rate and 
Speed 
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Q) Find the area of the shaded region: 
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TOPIC: RATIO, RATE AND SPEED 

Q) Express each of the following ratios in its simplest form: 

a) 135 : 240 

b) 162 : 384 

c) 0.25 : 1.5 

d) 0.09 : 0.21 

e) 1.26 : 0.315 

f) 64 : 96 : 224 

g) 0.2 kg : 40 g 

h) 35 min : 1 hr 

i) 15 m : 2 cm 

j) 3.2 h : 72 min 

Q) An alloy consists of three metals, X, Y and Z. Calculate the ratio X : Z given that: 

a) X : Y = 2 : 3 and Y : Z = 5 : 4 

b) X : Y = 5 : 7 and Y : Z = 13 : 10 

c) X : Y = 4 : 9 and Y : Z = 21 : 16 

Q) A man earns $250 in a five-day week. What is his pay for 3 days? 

Q) A television program began at 06 55 and ended at 08 40. How long did it last? 

Q) A film lasts 97 min. It is shown at 19 25. When will it end? 

Q) Express 40 min after 5:55 using the 24 hour clock notation. 

Q) It take a cyclist 44 min to cycle a distance of 11km. 

a) How long will it take him to cycle a distance of  1) 45 km 2) 36 km  3) 20 km 

b) What is the speed of the cyclist in km/h? 

Q)  Find the value of “x” in each of the following cases: 

a) 3 : 9 = 4 : x 

b) 5 : 11 = 10 : x 

c) X : 7 = 15 : 4 

d) 2 : x = 3 : 15 

e) 12 : 25 = x : 5 

Q) If 2 apples cost $5.04 find the cost of  

a) 8 apples 

b) 25 apples 

c) 70 apples 

Q) If 20 m² of flooring cost $36 

a) Find the cost of  1) 25 m²  2) 55 m²  of flooring 

b) What area of the same flooring can be bought for  1) $ 63  2) $75.60? 
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Q) My car travels 128 km on 12 litres of petrol. How far do I expect to travel on a full tank of 30 litres? 

Q) A motorist plans to travel 1273 km. If petrol costs $1.18 per litre and his car travels 19 km on 1 litre 

of petrol, how much will he need to spend on petrol for the trip? 

 

TOPIC: NUMBER SEQUENCE 

Q) Write down the next three terms in the following sequence: 

a) 1, 8 , 27, 64, ………… 

b) 11, 13, 16, 20, ……… 

c) 47, 38, 30, ………….. 

d) 2, 3, 5, 8, 12, ……… 

Q) consider the pattern: 

                                       1=1² 

                                  1+3 = 2² 

                          1 + 3 + 5 = 3² 

                     1 + 3 +5 + 7 = 4² 

                                 . 

                      . 

     1 + 3 + 5 + ….. + ( 2k – 1 ) = 144 

a) Write down the eighth line in the pattern 

b) Find the value of “k”. 

Q)   

 

 

 

 

 

 

 

Q)     

 

 



 

The City School /NN Boys Campus/Reinforcement Work Sheet/Mathematics/Class7/2019-20    Page 15 of 17 

  

 

  

 

 

 

 

 

 

 

 

 

 

TOPIC: BASIC GEOMETRY 

Q) Find the value of “x”. 

 

 

 

 

  

   

Q) Find the rest of the angles. 
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Q) Find the value of “x”. 
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